
Replacement Parts/Repuestos/Pièces de rechange
D215158T(A663659N)

D215158T (V6)

1. Index Button-Cold/Hot/Indicador de temperatura-caliente/fría/Repère de température-froid/chaud
2. Screw (M5 * 4 mm L)/Tornillo (M4 * 5 mm L)/Vis (M4 * 5 mm L)
3☉. Metal Handle Assembly/Ensamblaje de manija metálicas/Assemblage de manette en métal
4☉. Trim Cap/Tapa ornamental/Capuchon de garniture
5☉. Handle Sleeve/Manga de manijas/Manchon de la manette
6☉. Handle Trim Ring/Capuchón ornamental de la manija/Garniture circulaire de manette
7. O-Ring (Ø1-9/16" ID * Ø1-3/4" OD)/Empaque circular (Ø1-9/16 pulg. ID * Ø1-3/4 pulg. OD)/
 Joint torique (Ø1-9/16 po ID * Ø1-3/4 po OD)
 8☉. Aerator/Aireador/Brise-jet
9☉. Spout/Vertedor/Bec
10. Screw (M5 * 5mm L)/Tornillo (M4 * 5 mm L)/Vis (M4 * 5 mm L)
11. O-Ring (Ø7/16" ID * Ø9/16" OD)/Empaque circular (Ø7/16 pulg. ID * Ø9/16 pulg. OD)/
 Joint torique (Ø7/16 po ID * Ø9/16 po OD)
 12. O-Ring (Ø1" ID * Ø1-1/8" OD)/Empaque circular (Ø1 pulg. ID * Ø1-1/8 pulg. OD)/
 Joint torique (Ø1 po ID * Ø1-1/8 po OD)
13☉. Spout Body/Cuerpo del vertedor/Corps du Bec
14☉. Spout Trim Ring/Anillo ornamental del grifo/Garniture circulaire de bec
15. Hex Wrench (H2.5 * 19 mm L * 53 mm L)/Llave hexagonal (H2.5 * 19 mm L * 53 mm L)/
 Clé hexagonale (H2.5 * 19 mm L * 53 mm L)
16. Aerator Wrench/Llave para aireador/Clé pour brise-jet
17☉. Stopper Assembly/Ensamblaje de parador/Assemblage de bouchon
18☉. Drain Flange/Brida del desagüe/Bride de drain
19. Washer/Arandela/Rondelle
20. Washer And Nut/Arandela y tuerca/Rondelle et l'écrou
21☉. Tail Piece/Tubo de desagüe/About

A028046M
A075052
A602660
A103205
A041112
A607108
A048060

A500901N
A523166N

A008003
A004050N

A063008

A000692
A034237
A031000

A031025CP
A603659
A123159
A010687
A603674
A043172

Need Help? Please call our toll-free Customer service line at 1-888-328-2383 or WWW.DANZE.COM for additional assistance or service.

Requiere asistencia? Favor llamar a nuestro servicio a clientes sin costo al 1-888-328-2383 o WWW.DANZE.COM para asistencia adicional o servicio. 

Besoin d’aide? Veuillez communiquer avec notre service à la clientèle au numéro sans frais 1-888-328-2383 ou WWW.DANZE.COM pour obtenir du 

service ou de l’aide additionnels.

16.

15.

7.6.

5.

4.

3.

1.

2.

10.

14.

9.

8.

13.

12.
11.

17.

18.

19.

20.

21.


